
 





     UST/CE/6001 (ESTA)

    B.Sc. DEGREE EXAMINATION, APRIL 2016.
III YEAR — VI SEMESTER

Elective : ACTUARIAL STATISTICS
Time : 3 hours
    Max. marks : 75

SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1.
Define annuity. 
2.
Find the present value at 8% simple interest of  `3250 due in 9 months.
3.
Find the simple discount on a debt of `2500 due in 9 months at a discount rate of 17% what is the present value of the debt?
4.
What is meant by perpetuity.
5.
Find the Value of S @ 6%.
6.
Calculate present value of an immediate increasing annuity of 1 p.a for 10 years @8% 
7.
What is meant by Amortization?
8.
A debt of `5000 due in 5 years without interest is to be discharged by the sinking fund method. If 5 equal annual deposits, the first due in one year, are made into a fund earning 3% find the size of the deposit.
9.
What is meant by policy Value?
10.
Mention the three bases which contribute to the surplus.
11.
State the defects of charging natural premium.
12.
Define nomial annual rate. 
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE  questions. 

13.
Write nomial rate compounded monthly will `2000 amount to `2650 in 6 years?
14.
An annuity is payable for 15 years certain the first payment falling due at the end of first year. The annuity is payable at the rate of `500/- per annum during the first 10 years and at `300/- per annum during the remaining 5 years. Calculate the present Value of the annuity on the basis of interest at 4%  per annum. Given at 4 percent 
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15.
Calculate office single premium under a 2 year temporally Assurance for sum assured of `20,000 on (40), Provide for expenses at 9% of single premium and 3% sum assured and 6% interest.
16.
Write down the advantages of Reversionary Bones System.
17.
What is meant by a Policy Value? Explain how this value arises.
18.
Explain in detail about adequacy of premium.
19.
What is the interest rate r equivalent to a discount rate of

 (a)    5% for 2 months       (b)    5% for 9 months.
SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions.

20.
The XYZ Company borrows `10,000 for 5 years at 6% compounded semiannually. In order to pay off the Principal at the end of 5 years, a sinking fund is established by equal semiannual deposits, the first due in 6 months, into a savings account paying 4% Compounded semi annually. Find (a) the semiannual cost of the debt (b) the nomial rate Compounded semiannually the Company is Paying to retire the debt. 
21.
Explain in detail about level of annual Premium.
22.
Distinguish between profit and surplus in life insurance business.
23.
A series of 8 annual some of money is payable, the first Payment taking place at the end of one year from now. The first five payments are `300 each and the last three payments are `2200 each. Find the present value of the eight payments @ 8% p.a.
24.
Explain about Net premium method of valuation and gross premium method of Valuation.
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